MUD / MUS Z51

2 A2 MNEHTENTERRE (ERAE/ ERE)

NRERY - ZOTUEHRE - BEE/ BRIE . OE8 1/8" ~1/2"

mindman

EAAREE K T RE 6 R B o IR EL M BE
MUD/MUS-6,8 o JB B R /BRI -
D o TILEMEREE T o ELHRAE -
o MUD: 3 B8 AN 56 F 25 £ 130°C » L3 mfE T
Viton ~ Silicone ~ EPDM I JRZE0EME i F -
o AC BEAI 7% 1 +10% > DC BEA L2 : +1%
T ME
FEAT MUD MUS
mad ey B i
G FrRaR H %
L ERE R
MUD-1 0,15/MEL)JS-10 T TRERSH
BRAEHIRAL R
5 ) 1 ZETH NBR PTFE (Teflon)
1w NBR PTFE (Teflon)
FEEIE
2/2 N.C. o HEFCINE > IR AEE AT -
Nz[jzm - o B TIEREM ISR » MR ERIERILESmES -
o THETER KA - AR 7 B 1 S -
2/2N.0. 5 A FH DL &I i e

IR

o R EIRE R R o AR Ry IR
o JERLME TS o

LY

o MUD: FiE#E55 20 cst DL i -
o MUS: ZLE #8538 50 cst DL Fififas -
o VB EEERR IS 130°C » Pi/KERBIINE 5B -

MUD -6 H—-NO-[O—-G—-AC110—-G
—— g

. \ P ERhE
Bl EEOf NO: 4 B 1RE w | k- Z=R BEEE EoE CEeF
MUD 6:1/8" I« R R 5 b G | i AC220V/(50/60)Hz  fi : Rc &
MUS 8: 1/4" D: DIN 5 B8 130°C LUF| LO | #%3y (1) AC110V(50/60)Hz G: G &
10:3/8" IRIEES I Bi7kAkRE 130°C LIF VA | E% DC24V NPT: NPT 7
15: 1/2" - gy (D/1 B 7R BE R RS S 0 ) (5@ MUD)
H: &Ry *1, Byl ~ PSS SRR
(557 MUS)
wge | D/ |EE | OV |mnw| v BEFHEE)THEIE MPa Hz RA (mm) G
AREE | P | E | (mm) | SREECC | ok | zegE | & wsm [Br| Tor L[ H|{D|L1|D1| M | (ko)
MUD-6 © |Rc1/8"0.23| 2.5 |-5~+80 [0~0.7[0~0.7[ — [0~0.7[0~0.7|0~10°| 41 | 66 |21.5| 23 [19.3[M4x0.7| 0.32
MUD-8 © |Rc1/4"0.23| 2.5 |-5~+80 [0~0.7[0~0.7[ — [0~0.7[0~0.7]0~10°| 41 | 66 |21.5] 23 [19.3[M4x0.7| 0.31
MUD-8 © |Rc1/4"058| 4.0 |-5~+80 |0~0.3[0~0.3] — [0~0.3[0~0.3]0~10°| 41 | 66 |21.5| 23 [19.3|M4x0.7| 0.31
MUD-8 Rc1/4" 0.79| 6.0 |-5~+80 [0~0.1{0~0.1] — [0~0.1[0~0.1|0~10°| 41 | 66 [21.5| 23 [19.3|M4x0.7| 0.31
MUD-8H Rc1/4" 0.18| 1.2 [-5~+130| 0~2 | 0~2 | — | 0~2 | 0~2 |0~10°| 41 | 66 [21.5] 23 [19.3|M4x0.7] 0.31
MUD-10 e |Rc3/8"0.58| 4.0 [-5~+80 [ 0~1 | 0~1 | — |0~1]0~1]0~10%| 53| 75 | 48 | 20 |21.0|M5x0.8] 0.53
NC [mup-10 Rc3/8" 0.79| 8.0 [-5~+80 [0~0.3|0~0.5] — [0~0.3[0~0.5/0~102| 53 [ 90 | 48 | 20 [21.0{M5x0.8| 0.65
MUD-10H o |Rc3/8"045| 2.0 [-5~+130|0~2 [0~2 | — |0~2|0~2|0~10%| 53| 75 | 48 | 20 |21.0|M5x0.8] 0.54
MUD-15 Rc1/2" 0.58| 8.0 |-5~+80 |[0~0.3[0~0.5] — [0~0.3[0~0.5/0~10°| 53 | 90 | 48 | 20 |21.0{M5x0.8| 0.64
MUS-6 o |[Re1/8"0.23| 25 |-5~+185| — | — |0~0.7[0~0.7] — — |41]66 215 — | — | — [0.32
MUS-8 © |[Rc1/4"(0.23| 25 |-5~+185| — | — [0~0.7[0~0.7] — — | 41| 66 [21.5] 23 [19.3[M4x0.7{ 0.32
MUS-10 e |[Rc3/8"0.23| 40 [5~+185| — | — [0~1|0~1| — — | 53] 7548 |20 (21.0|M5%0.8]| 0.54
MUD-6-NO Rc1/8" 0.23] 2.5 [-5~+80 [0~0.7]0~0.7] — 0~0.7 |0~10°] 41 | 87 [21.5] 23 [19.3[M4x0.7] 0.44
MUD-8-NO Rc1/4" 0.23| 2.5 [-5~+80 [0~0.7][0~0.7] — 0~0.7 |0~10°| 41 | 87 [21.5] 23 [19.3|M4x0.7] 0.43
No [MUD-8-NO Rc1/4" 058 | 4.0 [-5~+80 [0~0.3[0~0.3] — 0~0.3 |0~10°| 41 | 87 [21.5]| 23 [19.3[M4x0.7| 0.43
MUD-8-NO Rc1/4"0.79| 6.0 [-5~+80 [0~0.1[0~0.1| — 0~0.1 |0~10°| 41 | 87 [21.5]| 23 [19.3[M4x0.7| 0.43
MUD-8H-NO Rc1/4" 0.18| 1.2 |-5~+130| 0~2 | 0~2 | — 0~2 0~102| 41 | 87 [21.5] 23 [19.3|M4x0.7{ 0.43
MUD-10-NO | e |Rc3/8"0.58| 4.0 [-5~+80 [ 0~1 | 0~1 | — 0~1 0~102| 53 [105| 48 | 20 [21.0{M5x0.8| 0.7

* O D/l #RBE R R ARG T3 B oah M -

AW mindman

* MUD-6, 8-NO &JfE ks DC24V > =% H ks 79.5mm -

* HZZH IR > GER O E 2 -



https://www.mindman.com.tw/proimages/pdf/C_2way_table.pdf
https://www.mindman.com.tw/proimages/pdf/C_2way_Precautions.pdf
https://www.mindman.com.tw/proimages/pdf/C_Seal_material.pdf
https://www.mindman.com.tw/proimages/pdf/C_mu_pipeline_type.pdf

	1_規格

